5/11 /2548

B B C.E
tan’x — (1 + V3 )tanx + V3 =0
T s froes

A+VU3 % W}?“‘B)z“"@

n

tow X = —
2
4+ U3 i\};+3420’3—40'3 .
= y —
iz aUres —2n s Ve
= ) = 5

FrUs ANE g
4+d’3i(4-\)—3> _/ -

2 \
M:d

)CJM_X:\)—} \Y; Yo X =1

LX= +KT Vv X=;I+’<Q

-

w3y




ALTERNATIVA
o X — (
b X —tom X - V3t x +U2 =0

,H\)?)tmx +J3 = O

towe ¥ <tgw\x~4§ _\5_3<td««>( ~4) =

(t'ow\x 4\ (fow\x Us) =0

ZLWA« anllanwaty A Joddlls

V o Xgux-V3 =0

tdyx -4 =0
c.E.
et L R
~ COS“X — COSX mx#é

too X (2emX - 4)

4Corx - F ~ (2earx-4) (5- éc,x 7 (ZwZXfC«DX>

2
deoX = — A0 x 442X +S = (cox = A4 X =7 &>

+2mz><+5(/>X+z =0

_5 t\es-16 /

Co X = < _ 12T azKm
L WINPT

-2 MNA.




=
vi !

sinxcosx+sinx=0
®0

Gom X (C/)X +4) = O

W}(:O Vv Co’))(:—‘—-'{

K/mws/m

$0

v e Aég/cy%\a, AuvB:B

X =K1



